
 

K¨v›Ub‡g›U cvewjK ¯‹zj I K‡jR 

wm‡jevm I gvbe›Ub -2017 

mßg †kÖwY 

welq: Kg© I RxebgyLx wkÿv 

 

Aa© evwl©K cixÿv t 

1g Aa¨vq  t Kg© I gvbweKZv (cvV: 21-27) 

2q Aa¨vq  t cvwievwiK KvR I †ckv (cvV: 21-27) 

 

‡kÖwY Afxÿv-1   t 

1g Aa¨vq  t Kg© I gvbweKZv (cvV: 1-12 ch©šÍ) 

 

‡kÖwY Afxÿv-2   t 

1g Aa¨vq  t Kg© I gvbweKZv (cvV: 13-20 ch©šÍ) 

2q Aa¨vq  t cvwievwiK KvR I †ckv (cvV: 21-25 ch©šÍ) 

 

‡kÖwY Afxÿv-3  t 

2q Aa¨vq  t cvwievwiK KvR I †ckv (cvV: 26-37 ch©šÍ) 

3q Aa¨vq  t wkÿv cwiKíbv I Kg©‡ÿ‡Î mdjZv (cvV: 38-40 ch©šÍ) 

 

‡kÖwY Afxÿv-4   t  

3q Aa¨vq  t wkÿv cwiKíbv I Kg©‡ÿ‡Î mdjZv (cvV: 41-70 ch©šÍ) 

 

evwl©K cixÿv t 

2q Aa¨vq: cvwievwiK KvR I †ckv (cvV: 26-37 ch©šÍ) 

3q Aa¨vq: wkÿv cwiKíbv I Kg©‡ÿ‡Î mdjZv (cvV: 38-70 ch©šÍ) 

 

mKj ‡kÖwY Afxÿvi gvbe›Ub t 
 

1| m„Rbkxj cÖkœ-01wU     10  01 = 10   

2| eûwbe©vPbx cÖkœ-10wU     1  10   = 10  

             ‡gvU   = 20 b¤̂i 

 

mKj ce© cixÿvi cÖ‡kœi aviv I  gvbe›Ub t 

 

1| m„Rbkxj cÖkœ (3wU n‡Z 2wU DËi w`‡Z n‡e)         1002 = 20  

2| eûwbe©vPbx cÖkœ-10wU            1  10= 10 

3| e¨envwiK                = 20             

       †gvU = 50 

 

 

 

 

 

 

 

 

 

 


